consensus matrix k=2

consensus matrix k=2

pvalue
Gender 0.310
Age <0.001
N stage <0.001
T stage <0.001

Smoking history0.108

riskScore <0.001

pvalue
Gender 0.473
Age <0.001

°N stage’ <0.001

'T stage’ 0.004

“Smoking history).137

riskScore 0.002

Hazard ratio

1.165(0.867-1.565)

1.033(1.017-1.049)

2.086(1.738-2.505)

1.847(1.453-2.348)

1.306(0.943-1.809)

3.010(1.884-4.809)

Hazard ratio

1.117(0.825-1.513)

1.039(1.023-1.056)

2.096(1.731-2.537)

1.430(1.124-1.818)

1.306(0.918-1.858)

2.161(1.337-3.491)
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